General Studies (Paper-1V)

Special Instructions:

1. There are 20 questions. Section-A consists of 10 short answer questions with word limit
of 125 each and Section-B consists of 10 long answer questions with word limit of 200
each. The questions are printed in Hindi and in English.

2. All questions are compulsory.

3. Keep the word limit indicated in the questions in mind.

4. Any page or portion of the page left blank in the answer booklet must be clearly struck
off.

(ES- 3l /Section- A)

1. 1 dgfIep AfdehdT BT UHIT dldb-siiad & fofdl R usar g2
Does individual morality have a bearing effect on the decision of public life? (8)

2. ARTHT it & Ad & IR S F MIRIDH YUl § off Ud TR A Afdds Fa8R
8 STRer 8Id 82 fadam sifery|

What are the essential virtues which are responsible for an ideal human ethical behaviour
according to Mahatma Gandhi? Discuss. (8)

3. "YFTIR BRI ASThIY DI GEUINT, YR DI SH&Hd U9 AT fdh ¥ H S1UT SUA HI
®1 HRU B 1" HYT & IRYT T Fdoies Siigd & YPER A+ & U Fa13 |

"Corruption causes misuse of government treasury, administrative inefficiency and
obstruction in national development." Give suggestions for prevention of corruption in
public life in the context of the statement given. (8)

4. disb a1 o G H Aafeified o uriffiear o1 fFego sifs:

(a) Afa® TmA

(b) A Siiad T g

Describe the relevance of the following in the context of civil services: (8)

(a) Ethical Governance
(b) Probity in public life.

5. G HAIRA] o IS gRT U Lifergol o= feam <1 eT uTl gfery srefterss gfery sl
! FERIT B € B! TTT69 B bl TbR B! G T A S G I ped & B1 Al
STIRIEHT &I, a1 38 '3 UT6 Uer <& | Udh o-Td ey Sl eRAT & aTdl U oafad § 9gd
FRAT g 3R P! [UeTe B dl ¢ | HRUI U ofF TR 98 Hedl & 1 39 gfey fefierm 2 urd
TG & foTT 8T UT| STYad UhRul & URsed § gior siefiere ok gferd & & Afas®
3{TeRUI TR (Ut fewult ferfau

A peaceful protest was being carried out by a group of milk traders. The Superintendent of
Police instructs the Police Officials to prevent the group from committing any type of
violence. He, however tells them to 'teach them a lesson', if situation warrants. A police




official on duty indulges into an argument with a protestor and beats him up. When
inquired about his action, he says that he was told to teach them a lesson by

the Superintendent of Police. Give your comment on ethical behaviour of both

the Superintendent of Police and the Police official in the light of above mentioned
incident. (8)

6. TGN 1 URHTIT BITT qUT AHIGRT TS ST & UfcrgTRie uRued daeit ot fadam
BT

Define attitude in historical perspective and discuss the relationship between aptitude and
attitude. (8)

7. FEMYfd I aRUIT DI TUT HHSIR o o1 JERTSM & JHYH T TeTgufd Bt Y
1 fademT Bifog|
Define empathy and discuss the role of empathy in solving problems of weaker section.

(8)
8. "HATH® g THTTRITC SRV H 9gd MaRa® &' | 39 HUT R YHI STemd |

"Emotional Intelligence is very important in effective administrative practices". Throw light
on the statement. (8)

%iggﬁa@aaﬁawmﬂ%ﬂaﬂwwmﬁﬁmmww%? 3T gTd
|

How can tolerance and compassion be fostered among civil servants? Give your opinion.

(8)

10. fane i

(i) TG ShRd T

(i) 3TYGRT P W1 Td Ubrll
Differentiate between: (8)

(i) Objectivity and Dedication

(ii) Structure and Functions of Attitudes

(ES- 9 /Section- B)
11. YR JAS & TRERET Jed 1 82 SMYFHe Jod! ¥ 596! o1 fH=dT g2 Saredl $ifod |

What are the traditional values in Indian society? How does it differ from modern values?
(12)

12. TSl &1 1 Afcrep faepferat o g7 Afces SitaH & o fdedl &1 qufe wiforu|

What are the ethical perversions of private sector? Describe the three options of ethical
life. (12)




13. TAAM YRS WA 8 JUMTESD HdT UG B & [0 HR-UP I B dadd aad
g7 d% Algd STR G|

Is change in work- culture necessary for providing quality service delivery in present
administrative structure? Answer with arguments. (12)

14. T ANH-U R T 07 IR0 82 Nh-URH R YHIfad =i fAaaur &
fafta =i &1 AR BT

Is judicial control necessary in Public Administration? Explain the various possible forms
of judicial control over the Public Administration. (12)

15. M Tl T IRBRT HHART § TUT U Fog ATAI-IUaT o Y SGR H I8 g | Th T YHor
& GRM 11 TY & U 3T F[AD ¥ 39! AIHId 8l olidl! ¢ | I8 aa-1g fRUfd § T R
ST T, ORI GEHTA R aTel Dl ol UTI H el 3 ST DI 30+ 8 o 371d § 3R
TRATd 39 g &1 afe a8 IM A & I ATI-UdT & U B, <l 3 ST
TARTHATTIR G AoTge! il ad e o1 off sgawit H31| Afass efPai 9 W gfd &
3R] DT el DI

Ram Murti is a government servant and lives with his old aged parents in Indore. One day
during a field-visit he meets a 11 year old orphan boy. He was in a miserable condition
and homeless, with no one to take care of him. Ram Murti brings the boy to home and
proposes him that if he takes care of his aged parents, he will give hime daily wage

according to his needs and will arrange for his education too. Evaluate Ram Murti is
conduct from ethical perspective. (12)

16. AMd & Afd® Td IeHTad AUGRT I 3T T THIA 872 3110 30 aHH o1
e ¥ fd TR 3fed Rig 412

What do you understand by moral and political attitude of human? How will you justify
these in the present political scenario? (12)

17. o1 el T RIE® gRT & Ja HRUN & fadaHT1 SIfoe| I8 Id-t €¢ i 872

Discuss the root causes of gender related negative attitude. Why is it so rigid? (12)

18. QTS THWT & Ul Afdd DT AAIGRT FHI0T &1 GHTTAd B a1 PRP| B! ST
ICTERUI i Wregdl A =1 Hifeu|

Discuss the factors which influence the formation of individual's attitude towards social
problems with the help of suitable examples. (12)

19, "3l T Jarsfi ¥ TXGATAT Ud (8T T00 B AT g 1" - HYH DI g Do

"Today objectivity and dedication is the need of the hour in civil services". - Justify the
statement. (12)




20. Toild Uh YAl e 4Tl Uh & Sd 98 Agidbd ¥ S WR ST g1 AT, Tl T HR A 3P|
qrsfcbel 1 Yoh] AR | Ieila § HR Feeh Pl R Y S8R Wi Febrer 3R Tiferdi &
o | PR <Teieh - Yeb GRI Tl dUT Y J I W dH-IR TR IR R 81 I HIT 74T
THIRISH! = 1T DI SRAATA Uga H ox B adl ST aqard & SR 39D GG 81
Tl‘s“lﬁﬂ?:ﬂﬁ%@ﬁq?&rrqaﬁa‘r HR D Pi saﬁ?ﬁﬁﬂ?@gﬁﬂ%qﬁr&ww
HRA? T uoh|<$°rHsOr> guc4|6ﬁaw§ﬁzmﬁ%‘cﬁ$qﬁmm SgYT I AT [ASshy
TGRT BT U= FRd €1 P HRUN BI fada-T HITOTT TUT $HP ARl g IUTT BI

BSEIR
Rajeev was a migrant labour. One day when he was going on the road by his bicycle, a
car pushed his bicycle. Rajeeb dragged the driver out of car and began abusing him. The
car driver took out a knife and after stabbing him three-four times he fled away from the
spot. Onlookers delayed rush Rajeev to hospital and due to excessive bleeding , he died.
If you were in place of Rajeev, what would you have done for driver's irresponsible
driving? Often people show indifferent or passive attitude towards such road accidents
and accident victims. Discuss its causes and suggest the remedies. (12)




